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1. Asia’s longest tunnel is located in which place? 

(A) Jammu and Kashmir    (B) Himachal Pradesh 

(C) Sikkim       (D) Arunachal Pradesh    

(E) Answer not known 

                                      ? 

(A)                 (B)                  

(C)               (D)                

(E)              

 

2. Select the correct statements from the following  

1. The Government of India has introduced the Mahila Samman Small Savings Scheme in this 

year's Union Budget to commemorate celebrations of 75 years of Independence. 

2. The minimum deposit amount is Rs. 1,000 and the maximum amount is Rs. 2 lakhs. 

3. The scheme will mature within two years from the date of opening of the account.  

4. The rate of interest will be calculated quarterly at the compound interest rate of 7.5 percent 

per annum. 

(A) 1 only      (B) 1,2 only 

(C) 1,2,3 only     (D) All of the above 

(E) Answer not known 

                                    

1. 75-                                                     

                                                        . 

2.               . 1,000                    . 2     . 

3.                                                .  

4.                       7.5                             

               . 

(A) 1                (B) 1,2            

(C) 1,2,3             (D)           

 (E)              

 

3. Country's first 3D printed post office to be launched at which place? 

(A) Chennai     (B) Bengaluru 

(C) Mumbai     (D) Kerala     

(E) Answer not known 

          3D                                 ? 

(A)                  (B)             
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(C)                   (D)       

(E)              

 

4. Which of the following parties has lost their status as a national party?  

(A) Communist Party of India 

(B) Trinamool Congress 

(C) Nationalist Congress Party     

(D) All of the above 

(E) Answer not known 

                                            ? 

(A)                      

(B)                  

(C)                   

(D)               

(E)               

 

5. According to the 2022 tiger Census, what is the total number of tigers in india?  

(A) 2967  (B) 2697  (C) 3167  (D) 3617 

(E) Answer not known 

2022                                                 

             ? 

(A) 2967  (B) 2697  (C) 3167  (D) 3617 

(E)              

 

6. Consider the following statements about ‘International Big Cat Alliance (IBCA)’ 

1.The Alliance will work for the conservation of big cats such as Tiger, Lion, Leopard, Snow 

Leopard, Cheetah, Jaguar and Puma harbouring our planet 

2.The Alliance launched by India seeks to bring together countries, conservationists, and 

experts from around the world 

Select the correct statement(s) 

(A) 1 only      (B) 2 only 

(C) Both 1 and 2     (D) Neither 1 nor 2 

(E) Answer not known 

‘                  (    )’                              

1.  ,     ,      ,         ,      ,                            

                                   . 
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2.                        ,                   ,            

                            

           (   )             

 (A) 1          (B) 2       

 (C) 1      2         (D) 1      2      

(E)              

 

7. Consider the following statements about ‘Indian Space Policy 2023’ 

1.The policy aims to increase India’s share in the global space economy to 10% in the future 

2.The private sector can take part in end-to-end space activities that include building satellites, 

rockets and launch vehicles 

3.The policy designates New Space India Limited (NSIL) to act as the interface between Indian 

Space Research Organisation and non-governmental entities 

Choose the correct answer using the code given below 

(A) 1 and 2 only      (B) 2 and 3 only  

(C) 1 and 3 only      (D) All the above 

(E) Answer not known 

                   2023’                              

1.                                                   10% 

                                           

2.             ,                                        

                                                 

          

                   (       ) 

 4.                              

                                                   

        . 

                                                          

(A) 1      2          (B) 2      3       

(C) 1      3          (D)                       

(E)              

 

8. which of the following criteria are mentioned by Election Commission to recognise a political 

party as National Party 

1.It its candidates polled at least 6% of total valid votes in any four or more states in the last 

Lok Sabha or Assembly elections and has at least four MPs in the last Lok Sabha polls 

2.It is ‘recognised’ as state party in four or more state 
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3.It has won at least 2% of the total seats in the Lok Sabha from three states or more states 

Select the correct answer using the code given below. 

(A) 2 and 3 only     (B) 1 & 2 only 

(C) 1 & 3 only     (D) 1, 2 & 3 only 

(E) Answer not known 

                                                        

                                 

1.                                                           

                                                          

                                          . .   . 

2.                                                             

3.                                                     

                    2%       

                                                        . 

(A) 2      3          (B) 1 & 2       

(C) 1 & 3           (D) 1, 2 & 3 

(E)              

 

9. ‘Article 371F’ of the Indian Constitution provides special status to which state? 

(A) Mizoram     (B) Andhra Pradesh 

(C)  Goa     (D)  Sikkim 

(E) Answer not known 

                ‘    371F’                                 ? 

(A)            (B)              

(C)           (D)      

(E)              

 

10. Zojila tunnel connects which two locations of India 

(A) Kashir to Ladakh    (B) Srinagar to Leh 

(C) Jammu to Kargil    (D) Shimla to Jammu 

(E) Answer not known 

                                                 

(A)                        (B)                   

(C)                      (D)                   

(E)              
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ANSWER KEY 

 

 

1 2 3 4 5 

A D B D C 

6 7 8 9 10 

C A D D A 

 


